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I  Continuation of discussion of invalidity of buying nxon mia from non-Jew:
a  Inference: if it was assuredly used for bestiality, would be invalid - is considered nam »p
i Argument: if it were just considered n’an p11 >wTp, (only other option) — wouldn’t be invalid
1 Answer: since the nmin refers to it as nkon, even though it is nan p73, is treated more severely
(a) Challenge: if so, 1977 ®xV (C-section) should be invalid (but w™ allows)
(b) And:w" does consider a 1977 R¥Y to be an “imperfect” 151 (per 111 ")
(c) Answer: since a mn would invalidate 119, per v. 1, also anything considered nnnwn invalidates
(i) And:Dboth "y and m»y are called nnnwn (vv.2-3)
II  Revisiting X»W’s explanation of X"’s ruling — (v. 4)

a  Challenge:v. 5 also uses terminology, yet story of nmi ja RnT supports buying Tar »ar (and n19) from non-Jew
i Answer: that was through a Y879’ middleman (broker)

b Challenge: doesn’t 8" concern himself with 197297 In his comment on that story, he claims n1a was watched by Y&
from moment of birth (as well as from moment it was formed in utero - perhaps even from birth of mother beyond
that we don’t raise the concern)

i Answer: he concerns himself with both nnp and ny»an
1 Question: why did they watch this one’s mother?
2 Answer: this herd had a “red strain” and they had reason to believe it may be a nn1R 079
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III Revisiting the dispute between mnon/x™
a  R"’sresponse to 0N (v. 6) —v.7

i

Challenges: vv. 8-11 (+vv. 12-14) where n111p were brought from n"3y (all answered locally)

b pnr “7's answer to original contradiction: if the animal is over 3, no more wwn of neutering; before that he won’t commit
bestiality

i
ii
iii

iv

vi

Challenges: as above

Answer: to each — they were bought before animal was 3

Challenge: v. 13 — must’'ve been over 3, as they were nursing their young (per v. 15) and below age of 3 we assume
no births as per ruling about 1132)

1 Conclusion: we revert to n7a "v's solution

Aggadic tangent: song sung by lowing cows (in v. 16) — vv. 17-21

1 Tangent: “etymologies” (vv. 22-23)

Aggadah (related to 7v7): explaining 7%n 790 and the “day the sun stood still” (vv.24-30)

Aggadah (other mention of 1w217 790): vv.31-37

1 Tangent: explanation of 15ym (v. 38)
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